
Stackable Blade for 
PC/104 Modules



TOP ITEM NUMBER.
BOTTOM QTY OF ITEM.

?
? 9

4

4
1

8
4

2
1

3
1

1
1

6
4

7
4

5
1

10 LABEL PLACEMENT

THERMAL PAD PLACEMENT

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 460712YY00000 460712YY30022 1 1 ADSP-30 SMT1024 PSU SUB ASSEMBLY
2 460712YY00000 460712YY30012 1 2 ADSP-30 KU40 FPGA SUB ASSEMBLY
3 460712YY00000 460712YY30002 1 3 ADSP-30 ZU4G/CG SoC SUB ASSEMBLY
4 460712YY00000 460712YY10001 1 4 ADSP-30 LID
5 460712YY00000 460712YY90001 1 5 ADSP-30 LABEL IDENTIFICATION
6 460712YY00000 460712YY10021 1 6 ADSP-30 THERMAL PAD 2
7 460712YY00000 2AGA00052AFA 4 7 Washer SS Flat M5 A4-70 DIN 433
8 460712YY00000 2AGB00023AFA 4 8 Washer SS HLCL SPR LK M5 A4-70 DIN 127B
9 460712YY00000 2AAA00299AFA 4 9 Screw SS SKT Cap M5 x 60 F/T A4 Din 912 Black
10 460712YY00000 4AEA00002AFA 0.01 10 LOCTITE 222 LOW STRENGTH THREADLOCKER 50ML

COMPUTER FILE NAMESCALE:

SHEET:

A3

OF

MATERIAL:

FINISH:

TITLE:

460712YY00000D05.slddrw

COMPANY RESTRICTED

460712YY00000D05

TULIPP BLADE 

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

See Parts List.

N/A

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

LIMITS UNLESS STATED:
UNSPECIFIED ±2.0
2 DECIMALS  ±1.0

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm



 R5.00 TYP 

4 x  5.70 THRU ALL

 4 x R10.00 

 4 x R2.70 

 0
 

 2
4.

00
 

 6
1.

25
 

 1
06

.7
5 

 1
44

.0
0 

 1
9.

00
 

 1
49

.0
0 

 1
68

.0
0 

 1
36

.1
5 

 3
1.

85
 

 0 
 5.00 
 12.70 

 27.50 

 147.00 
 139.50 

 162.00 

 22.50 

A

A

 0.50 

B

SECTION A-A

 R5.00 TYP 

 0
 

 5
.0

0 
 1

0.
00

 
 1

5.
20

 

 0
 

 1
0.

00
 

 1
5.

20
 

 4 x R12.00 
 R5.00 TYP 

 0 

 30.20 
 42.90 
 55.60 
 68.30 
 81.00 
 93.70 

 106.40 
 119.10 
 131.80 

 157.00 

 0
 

 1
4.

00
 

 2
4.

10
 

 2
6.

90
 

 4
9.

00
 

 1
09

.0
0 

 1
41

.1
0 

 1
43

.9
0 

 1
54

.0
0 

 0 
 5.10 
 8.05 

 70.00 

 120.00 
 143.95 
 146.90 

SEE NOTE 1.

 2
.7

0 
TY

P 

 0
 

 0
.1

0 
 2

.7
0 

 9
.5

0 

 0
 

 1
7.

60
 

 2
2.

60
 

DETAIL B

 R5.00 TYP 1.00 X 45.00°

 0 
 5.00 

 0
 

 3
9.

55
 

 5
2.

25
 

 6
4.

95
 

 7
7.

65
 

 9
0.

35
 

 1
03

.0
5 

 1
15

.7
5 

 1
28

.4
5 

NOTE:
1. PART No. ENGRAVE TO ST-768-364-01 C06.
2. FOR PAINTING SEE D10 DRAWING.

MASS (g)  ± 5% 547.06

VOLUME (mm³)  ± 5% 201866.25

SURFACE AREA (mm²)  ± 5% 95817.48

COMPUTER FILE NAME LIMITS APPLY
AFTER PLATING

ANGLES
±0° 30'

SCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10001D06.slddrw

460712YY10001D06

TULIPP BLADE LID

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

Chromate conversion coat to      
ST-256-436-01 C06 TYPE II CLASS IA.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541COMPANY 

RESTRICTED LIMITS UNLESS STATED:
UNSPECIFIED ±0.4
2 DECIMALS  ±0.1

ISO 1302

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm
UNLESS OTHERWISE STATED

ISO 13715

Ra 1.6

+0.1-0.1

COMPANY RESTRICTED



NOTE:
1. MASK HATCHED AREAS AND HOLES PRIOR TO PAINTING.
2. PAINT TO BE PROGRAM SPECIFIC IN ACCORDANCE WITH THE SUPPLIED C06 DOCUMENT.
3. ADD PREFIX FOR COLOUR VARIATION AS PER PURCHASE ORDER.

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10001D10.slddrw

460712YY10001D10

TULIPP BLADE LID

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

See Notes.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED



 4
2 

 27 

NOTE: 
TOLERANCES ON ALL DIMENSIONS IS +1.0mm AND -0.0mm.
MATERIAL THICKNESS 1mm.

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 3AMA00043AEA 0.01 1 GAP PAD 5000S35 SHEET 0.04" X 8" X16"

ANGLES
±0° 30'

FINISH:

MATERIAL:

OF

SHEET:

SCALE:

DRAWING NO.:

TITLE:COMPUTER FILE NAME

460712YY10011D06.slddrw
COMPANY
RESTRICTED

460712YY10011D06

THERMAL PAD 1
N.T.S.

1 1

H.E/899 2018/05/04

REV:

SIZE:

A4

01

01

SEE RELEASE NOTE
FOR APPROVAL SIGNATORIES

1st RELEASE

RN-2018-541

LIMITS APPLY
AFTER PLATING

N/A

PARTICULARSDATEDRAWNREV

Ra 1.6

ISO 13715

UNLESS OTHERWISE STATED
DIMENSIONS ARE IN mmDO NOT SCALE

DRAWN TO ISO 128

ISO 1302

UNSPECIFIED ±0.4
2 DECIMALS  ±0.1LIMITS UNLESS STATED:

-0.1 +0.1

See Parts List.

COMPANY RESTRICTED



 6
0 

 50 

NOTE: 
TOLERANCES ON ALL DIMENSIONS IS +1.0mm AND -0.0mm.
MATERIAL THICKNESS 1mm.

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 3AMA00043AEA 0.01 1 GAP PAD 5000S35 SHEET 0.04" X 8" X16"

ANGLES
±0° 30'

FINISH:

MATERIAL:

OF

SHEET:

SCALE:

DRAWING NO.:

TITLE:COMPUTER FILE NAME

460712YY10021D06.slddrw
COMPANY
RESTRICTED

460712YY10021D06

THERMAL PAD 2
N.T.S.

1 1

H.E/899 2018/05/04

REV:

SIZE:

A4

01

01

SEE RELEASE NOTE
FOR APPROVAL SIGNATORIES

1st RELEASE

RN-2018-541

LIMITS APPLY
AFTER PLATING

N/A

PARTICULARSDATEDRAWNREV

Ra 1.6

ISO 13715

UNLESS OTHERWISE STATED
DIMENSIONS ARE IN mmDO NOT SCALE

DRAWN TO ISO 128

ISO 1302

UNSPECIFIED ±0.4
2 DECIMALS  ±0.1LIMITS UNLESS STATED:

-0.1 +0.1

See Parts List.

COMPANY RESTRICTED



 4
2 

 27 

NOTE: 
TOLERANCES ON ALL DIMENSIONS IS +1.0mm AND -0.0mm.
MATERIAL THICKNESS 1.52mm.

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 3AMA00041AEA 0.01 1 GAP PAD 5000S35 SHEET 0.06" X 8" X16"

ANGLES
±0° 30'

FINISH:

MATERIAL:

OF

SHEET:

SCALE:

DRAWING NO.:

TITLE:COMPUTER FILE NAME

460712YY10031D06.slddrw
COMPANY
RESTRICTED

460712YY10031D06

THERMAL PAD 3
N.T.S.

1 1

H.E/899 2018/05/04

REV:

SIZE:

A4

01

01

SEE RELEASE NOTE
FOR APPROVAL SIGNATORIES

1st RELEASE

RN-2018-541

LIMITS APPLY
AFTER PLATING

N/A

PARTICULARSDATEDRAWNREV

Ra 1.6

ISO 13715

UNLESS OTHERWISE STATED
DIMENSIONS ARE IN mmDO NOT SCALE

DRAWN TO ISO 128

ISO 1302

UNSPECIFIED ±0.4
2 DECIMALS  ±0.1LIMITS UNLESS STATED:

-0.1 +0.1

See Parts List.

COMPANY RESTRICTED



 6
.8

0 

0.5 X 45°

0.5 X 45°

 2.05 THRU ALL
M2.5 - 6H THRU ALL

 5
.0

0 
A

/F
 

ANGLES
±0° 30'

FINISH:

MATERIAL:

OF

SHEET:

SCALE:

DRAWING NO.:

TITLE:COMPUTER FILE NAME

460712YY10041D06.slddrw
COMPANY
RESTRICTED

460712YY10041D06

SPACER
N.T.S.

1 1

H.E/899 2018/05/04

REV:

SIZE:

A4

01

01

SEE RELEASE NOTE
FOR APPROVAL SIGNATORIES

1st RELEASE

RN-2018-541

LIMITS APPLY
AFTER PLATING

Passivate

PARTICULARSDATEDRAWNREV

Ra 1.6

ISO 13715

UNLESS OTHERWISE STATED
DIMENSIONS ARE IN mmDO NOT SCALE

DRAWN TO ISO 128

ISO 1302

UNSPECIFIED ±0.4
2 DECIMALS  ±0.1LIMITS UNLESS STATED:

-0.1 +0.1

SS AISI 304

COMPANY RESTRICTED



 0
 

 1
9.

00
 

 2
4.

10
 

 2
7.

00
 

 4
6.

00
 

 2
9.

10
 

 5
6.

20
 

 6
0.

45
 

 1
17

.0
0 

 1
22

.5
0 

 1
31

.7
0 

 1
38

.9
0 

 1
41

.0
0 

 1
43

.9
0 

 1
49

.0
0 

 0
 

 6
0.

70
 

 6
4.

80
 

 1
06

.8
0 

 1
08

.8
0 

 1
31

.7
0 

 4
6.

00
 

 0 
 8.20 
 14.55 
 38.20 

 44.20 
 41.20 

 85.60 
 88.10 

 118.20 
 117.10 

 119.60 
 121.20 
 124.20 
 143.80 
 146.90 

 0 

 40.70 
 43.70 

 48.20 
 46.70 

 114.40 
 117.40 
 120.40 

A

A

1.00 X 45.00°

 2
.7

0 
TY

P 

 0
 

 2
3.

60
 

 2
6.

40
 

4 x  5.70 THRU ALL
 6.00 X 90°, Near Side
 6.00 X 90°, Far Side

4 x  2.50 THRU ALL
M3 - 6H THRU ALL

2 x  1.60 THRU ALL
M2 - 6H THRU ALL

 4 x R15.00 

 R5.00 TYP 

 0 
 5.00 

 30.20 
 41.20 
 42.90 
 55.60 
 68.30 
 81.00 
 93.70 

 106.40 
 119.10 
 131.80 
 147.00 
 157.00 

 0
 

 1
4.

00
 

 2
4.

00
 

 4
6.

00
 

 6
0.

45
 

 1
17

.0
0 

 1
31

.7
0 

 1
44

.0
0 

 1
54

.0
0 

 0 
 1.95 
 14.55 

 43.70 

 117.40 

 0
 

 2
6.

85
 

 3
9.

55
 

 5
2.

25
 

 6
4.

95
 

 7
7.

65
 

 9
0.

35
 

 1
03

.0
5 

 1
15

.7
5 

 1
28

.4
5 

 1
41

.1
5 

 0 

 25.40 

 0
 

 3
9.

10
 

 1
28

.9
0 

 0
 

 3
.4

0 
 5

.6
0 

 5
.9

0 
 6

.9
0 

 1
7.

90
 

 0
 

 2
2.

70
 

SECTION A-A

NOTE:
1. PART No. ENGRAVE TO ST-768-364-01 C06.
2. FOR PAINTING SEE D10 DRAWING.

MASS (g)  ± 5% 427.92

VOLUME (mm³)  ± 5% 157903.71

SURFACE AREA (mm²)  ± 5% 79146.64

COMPUTER FILE NAME LIMITS APPLY
AFTER PLATING

ANGLES
±0° 30'

SCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10051D06.slddrw

460712YY10051D06

EMC2-ZU4
(TE0820) HOUSING

01

N.T.S.

1 2
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

Chromate conversion coat to      
ST-256-436-01 C06 TYPE II CLASS IA.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541COMPANY 

RESTRICTED LIMITS UNLESS STATED:
UNSPECIFIED ±0.4
2 DECIMALS  ±0.1

ISO 1302

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm
UNLESS OTHERWISE STATED

ISO 13715

Ra 1.6

+0.1-0.1

COMPANY RESTRICTED



 2 x R9.00 

 4 x 8.00  R12.00 

 4 x R12.00 

 R3.00 TYP SEE NOTE 1.

 R1.00 TYP 

 2 x R3.40 

 0
 

 3
2.

00
 

 3
8.

50
 

 4
0.

20
 

 4
9.

20
 

 5
7.

00
 

 5
4.

00
 

 6
0.

50
 

 7
9.

00
 

 8
0.

20
 

 9
7.

10
 

 9
8.

50
 

 1
01

.5
0 

 1
12

.4
0 

 1
28

.4
0 

 0 
 3.50 

 17.60 
 18.70 

 14.70 

 0 
 3.40 

 11.50 
 11.20 

 17.80 

 18.40 

COMPUTER FILE NAME LIMITS APPLY
AFTER PLATING

ANGLES
±0° 30'

SCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10051D06.slddrw

460712YY10051D06

EMC2-ZU4
(TE0820) HOUSING

01

N.T.S.

2 2
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

Chromate conversion coat to      
ST-256-436-01 C06 TYPE II CLASS IA.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541COMPANY 

RESTRICTED LIMITS UNLESS STATED:
UNSPECIFIED ±0.4
2 DECIMALS  ±0.1

ISO 1302

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm
UNLESS OTHERWISE STATED

ISO 13715

Ra 1.6

+0.1-0.1

COMPANY RESTRICTED



NOTE:
1. MASK HATCHED AREAS AND HOLES PRIOR TO PAINTING.
2. PAINT TO BE PROGRAM SPECIFIC IN ACCORDANCE WITH THE SUPPLIED C06 DOCUMENT.
3. ADD PREFIX FOR COLOUR VARIATION AS PER PURCHASE ORDER.

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10051D10.slddrw

460712YY10051D10

EMC2-ZU4
(TE0820) HOUSING

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

See Notes.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED



 0
 

 1
9.

00
 

 2
4.

10
 

 2
7.

00
 

 4
6.

00
 

 2
9.

10
 

 5
6.

20
 

 6
0.

45
 

 1
17

.0
0 

 1
22

.5
0 

 1
31

.7
0 

 1
38

.9
0 

 1
41

.0
0 

 1
43

.9
0 

 1
49

.0
0 

 0
 

 6
0.

70
 

 6
4.

80
 

 1
06

.8
0 

 1
08

.8
0 

 1
31

.7
0 

 4
6.

00
 

 0 
 8.20 
 14.55 
 38.20 

 44.20 
 41.20 

 85.60 
 88.10 

 118.20 
 117.10 

 119.60 
 121.20 
 124.20 
 143.80 
 146.90 

 0 

 40.70 
 43.70 

 48.20 
 46.70 

 114.40 
 117.40 
 120.40 

A

A

1.00 X 45.00°

 2
.7

0 
TY

P 

 0
 

 2
3.

60
 

 2
6.

40
 

4 x  5.70 THRU ALL
 6.00 X 90°, Near Side
 6.00 X 90°, Far Side

4 x  2.50 THRU ALL
M3 - 6H THRU ALL

2 x  1.60 THRU ALL
M2 - 6H THRU ALL

 4 x R15.00 

 R5.00 TYP 

 0 
 5.00 

 30.20 
 41.20 
 42.90 
 55.60 
 68.30 
 81.00 
 93.70 

 106.40 
 119.10 
 131.80 
 147.00 
 157.00 

 0
 

 1
4.

00
 

 2
4.

00
 

 4
6.

00
 

 6
0.

45
 

 1
17

.0
0 

 1
31

.7
0 

 1
44

.0
0 

 1
54

.0
0 

 0 
 1.95 
 14.55 

 43.70 

 117.40 

 0
 

 2
6.

85
 

 3
9.

55
 

 5
2.

25
 

 6
4.

95
 

 7
7.

65
 

 9
0.

35
 

 1
03

.0
5 

 1
15

.7
5 

 1
28

.4
5 

 1
41

.1
5 

 0 

 25.40 

 0
 

 3
9.

10
 

 1
28

.9
0 

 0
 

 3
.4

0 
 5

.6
0 

 5
.9

0 
 6

.9
0 

 1
7.

90
 

 0
 

 2
2.

70
 

SECTION A-A

NOTE:
1. PART No. ENGRAVE TO ST-768-364-01 C06.
2. FOR PAINTING SEE D10 DRAWING.

MASS (g)  ± 5% 427.92

VOLUME (mm³)  ± 5% 157903.71

SURFACE AREA (mm²)  ± 5% 79146.63

COMPUTER FILE NAME LIMITS APPLY
AFTER PLATING

ANGLES
±0° 30'

SCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10061D06.slddrw

460712YY10061D06

EMC2-KUXX0
(TE0841) HOUSING

01

N.T.S.

1 2
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

Chromate conversion coat to      
ST-256-436-01 C06 TYPE II CLASS IA.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541COMPANY 

RESTRICTED LIMITS UNLESS STATED:
UNSPECIFIED ±0.4
2 DECIMALS  ±0.1

ISO 1302

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm
UNLESS OTHERWISE STATED

ISO 13715

Ra 1.6

+0.1-0.1

COMPANY RESTRICTED



 2 x R9.00 

 4 x 8.00  R12.00 

 4 x R12.00 

 R3.00 TYP SEE NOTE 1.

 R1.00 TYP 

 2 x R3.40 

 0
 

 3
2.

00
 

 3
8.

50
 

 4
0.

20
 

 4
9.

20
 

 5
7.

00
 

 5
4.

00
 

 6
0.

50
 

 7
9.

00
 

 8
0.

20
 

 9
7.

10
 

 9
8.

50
 

 1
01

.5
0 

 1
12

.4
0 

 1
28

.4
0 

 0 
 3.50 

 17.60 
 18.70 

 14.70 

 0 
 3.40 

 11.50 
 11.20 

 17.80 

 18.40 

COMPUTER FILE NAME LIMITS APPLY
AFTER PLATING

ANGLES
±0° 30'

SCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10061D06.slddrw

460712YY10061D06

EMC2-KUXX0
(TE0841) HOUSING

01

N.T.S.

2 2
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

Chromate conversion coat to      
ST-256-436-01 C06 TYPE II CLASS IA.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541COMPANY 

RESTRICTED LIMITS UNLESS STATED:
UNSPECIFIED ±0.4
2 DECIMALS  ±0.1

ISO 1302

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm
UNLESS OTHERWISE STATED

ISO 13715

Ra 1.6

+0.1-0.1

COMPANY RESTRICTED



NOTE:
1. MASK HATCHED AREAS AND HOLES PRIOR TO PAINTING.
2. PAINT TO BE PROGRAM SPECIFIC IN ACCORDANCE WITH THE SUPPLIED C06 DOCUMENT.
3. ADD PREFIX FOR COLOUR VARIATION AS PER PURCHASE ORDER.

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10061D10.slddrw

460712YY10061D10

EMC2-KUXX0
(TE0841) HOUSING

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

See Notes.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED



4 x  6.50 THRU ALL
 7.00 X 90°, Near Side
 7.00 X 90°, Far Side

 4 x R10.00 

 0
 

 8
.0

0 

 1
60

.0
0 

 1
68

.0
0 

 0 
 13.00 

 149.00 
 162.00 

A

A

1.00 X 45.00°

 0
 

 3
.4

0 
 1

9.
50

 
 2

2.
70

 
 3

2.
60

 
 3

5.
60

 

 2
.7

0 
TY

P 

 0
 

 2
3.

60
 

 3
5.

60
 

4 x  4.20  15.00
M5 - 6H  10.00

6 x  2.50  8.00
M3 - 6H  6.00

 6 x 6.00 

 R5.00 TYP 

 4 x R12.00 

 0 

 30.20 
 42.90 
 55.60 
 68.30 
 81.00 
 93.70 

 106.40 
 119.10 
 131.80 

 0
 

 1
9.

00
 

 2
4.

00
 

 3
0.

20
 

 4
6.

00
 

 1
31

.7
0 

 1
37

.8
0 

 1
44

.0
0 

 1
49

.0
0 

 0 

 5.00 
 1.95 

 8.20 
 29.70 
 43.70 

 117.40 
 121.20 

 147.00 
 143.80 

 148.00 
 157.00 

 1
4.

00
 

 1
54

.0
0 

SEE NOTE 1.

 R1.00 TYP 
4.20 

 0 
 16.60 

 22.70 
 21.20 

 0 
 16.60 
 18.20 
 28.80 
 31.10 
 31.60 

 0
 

 6
2.

20
 

 8
0.

70
 

 8
7.

82
 

 9
4.

80
 

 9
8.

80
 

 9
9.

70
 

 1
17

.4
0 

11
8.

40
13

5.
90 NOTE:

1. PART No. ENGRAVE TO ST-768-364-01 C06.
2. FOR PAINTING SEE D10 DRAWING.

MASS (g)  ± 5% 838.10

VOLUME (mm³)  ± 5% 309261.19

SURFACE AREA (mm²)  ± 5% 113552.59

COMPUTER FILE NAME LIMITS APPLY
AFTER PLATING

ANGLES
±0° 30'

SCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10071D06.slddrw

460712YY10071D06

SMT1024 PSU 
HOUSING

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

Chromate conversion coat to      
ST-256-436-01 C06 TYPE II CLASS IA.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541COMPANY 

RESTRICTED LIMITS UNLESS STATED:
UNSPECIFIED ±0.4
2 DECIMALS  ±0.1

ISO 1302

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm
UNLESS OTHERWISE STATED

ISO 13715

Ra 1.6

+0.1-0.1

COMPANY RESTRICTED



NOTE:
1. MASK HATCHED AREAS AND HOLES PRIOR TO PAINTING.
2. PAINT TO BE PROGRAM SPECIFIC IN ACCORDANCE WITH THE SUPPLIED C06 DOCUMENT.
3. ADD PREFIX FOR COLOUR VARIATION AS PER PURCHASE ORDER.

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY10071D10.slddrw

460712YY10071D10

SMT1024 PSU 
HOUSING

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

Al 6082 T6

See Notes.

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED



TOP ITEM NUMBER.
BOTTOM QTY OF ITEM.

?
?

1
1

11
1

3
1

9
4

8
4

10
4

2
1

6
4

7
4

8
4

9
4

5
2

4
2

THERMAL PAD PLACEMENT

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 460712YY10051 1 1 ADSP-30 ZU4G/CG SoC HOUSING

2 emc2-dp-v2-
3d_PCB_ASSY.SLDPRT 1 2 Description

3 STP-TE0841-01 1 3 Description
4 2AGA00049AFA 2 4 Washer SS Flat M2 A4 DIN 433
5 2AAL00081AFA 2 5 Screw SS PHH PNH M2x6 A4 Din 7985
6 2AGA00047AFA 4 6 Washer SS Flat M3  A4 DIN 433
7 2AAL00096AFA 4 7 Screw SS PHH PNH M3 x 6 A4 DIN 7985 A
8 2AGA00050AFA 8 8 Washer SS Flat M2,5 A4-70 DIN 433
9 2AAL00089AFA 8 9 Screw SS PHH PNH M2,5 x 5 A4 DIN 7985 A
10 2ASA00022AEA 4 10 Hex Pillar SS M2.5 x 8 M/F
11 460712YY10031 1 11 ADSP-30 THERMAL PAD 3

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:

SUB ASSEMBLY  
DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY30002D05.slddrw

460712YY30002D05

EMC2-ZU4

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

See Parts List.

N/A

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

LIMITS UNLESS STATED:
UNSPECIFIED ±2.0
2 DECIMALS  ±1.0

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED



TOP ITEM NUMBER.
BOTTOM QTY OF ITEM.

?
?

1
1

7
1

3
1

6
4

5
4

4
4

2
1

8
4

9
4

5
4

6
4

11
2

10
2

THERMAL PAD PLACEMENT

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 460712YY10061 1 1 ADSP-30 KU40 FPGA HOUSING

2 emc2-dp-v2-
3d_PCB_ASSY.SLDPRT 1 2 Description

3 TE0820-02 1 3 Description
4 2ASA00022AEA 4 4 Hex Pillar SS M2.5 x 8 M/F
5 2AGA00050AFA 8 5 Washer SS Flat M2,5 A4-70 DIN 433
6 2AAL00089AFA 8 6 Screw SS PHH PNH M2,5 x 5 A4 DIN 7985 A
7 460712YY10011 1 7 ADSP-30 THERMAL PAD 1
8 2AGA00047AFA 4 8 Washer SS Flat M3  A4 DIN 433
9 2AAL00096AFA 4 9 Screw SS PHH PNH M3 x 6 A4 DIN 7985 A
10 2AGA00049AFA 2 10 Washer SS Flat M2 A4 DIN 433
11 2AAL00081AFA 2 11 Screw SS PHH PNH M2x6 A4 Din 7985

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:

SUB ASSEMBLY DRAWING 

NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY30012D05.slddrw

460712YY30012D05

EMC2-KU

01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

See Parts List.

N/A

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

LIMITS UNLESS STATED:
UNSPECIFIED ±2.0
2 DECIMALS  ±1.0

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED



TOP ITEM NUMBER.
BOTTOM QTY OF ITEM.

?
?

2
1

1
1

4
6

3
6

SORT 
NO. PART NUMBER PART 

REV. SUB PART NUMBER
SUB 

PART 
REV.

QTY. DRAW. 
POS. DESCRIPTION

1 460712YY10071 1 1 ADSP-30 SMT1024 PSU HOUSING
2 PSU_ASSY 1 2 Description
3 2AGA00047AFA 6 3 Washer SS Flat M3  A4 DIN 433
4 2AAL00096AFA 6 4 Screw SS PHH PNH M3 x 6 A4 DIN 7985 A

COMPUTER FILE NAMESCALE:

SHEET:

A3
REV:DRAWING NO.:

OF

MATERIAL:

FINISH:

TITLE:

460712YY30022D05.slddrw

460712YY30022D05 01

N.T.S.

1 1
H.E/899 2018/05/04

DATE

SIZE:

01

See Parts List.

N/A

DRAWNREV PARTICULARS
1st. RELEASE

SEE RELEASE NOTE                
FOR APPROVAL SIGNATORIES RN-2018-541

COMPANY 
RESTRICTED

SMT1024 PSU SUB 
ASSEMBLY

LIMITS UNLESS STATED:
UNSPECIFIED ±2.0
2 DECIMALS  ±1.0

DRAWN TO ISO 128

DO NOT SCALE DIMENSIONS ARE IN mm

COMPANY RESTRICTED


	Document Review Front Page Rev 01a
	460712YY00000D05Rev01
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	460712YY10001D06Rev01
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View3
	Drawing View4
	Detail View B (1 : 1)
	Drawing View6
	Drawing View7


	460712YY10001D10Rev01
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


	460712YY10011D06Rev01
	Sheet1
	Drawing View3


	460712YY10021D06Rev01
	Sheet1
	Drawing View3


	460712YY10031D06Rev01
	Sheet1
	Drawing View3


	460712YY10041D06Rev01
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	460712YY10051D06Rev01
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View6
	Section View A-A

	Sheet2
	Drawing View11
	Drawing View15
	Drawing View16
	Drawing View17


	460712YY10051D10Rev01
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


	460712YY10061D06Rev01
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View6
	Section View A-A

	Sheet2
	Drawing View11
	Drawing View15
	Drawing View16
	Drawing View17


	460712YY10061D10Rev01
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


	460712YY10071D06Rev01
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View3
	Drawing View4
	Drawing View8
	Drawing View9


	460712YY10071D10Rev01
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


	460712YY30002D05Rev01
	Sheet1
	Drawing View1
	Drawing View2


	460712YY30012D05Rev01
	Sheet1
	Drawing View1
	Drawing View2


	460712YY30022D05Rev01
	Sheet1
	Drawing View1


	460712YY90001D10Rev01
	Sheet1
	Drawing View1





